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The unified atomic mass unit (symbol: u or amu)

or
dalton (symbol: Da) (for biologic compounds)
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Mh,0=18 g/mol




Seles o HCgH 1506 Jso G Jgo ppo |

6 C atoms 6(12.0 amu) 72.0 amu
12 H atoms 12(1.0 amu) 12.0 amu
6 O atoms 6(16.0 armu) 96.0 amu
180.0 amu
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subos o CACHH 1) 9038 (4591
Ca: 1 (40.1 amu)
+ Cl: 2 (35.5 amu)
111.1 amu

Sles oy CoHg 1y (Jao 8 50

C: 2(12.0 amu)

+H: 6 (1.0 amu)
30.0 amu
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1 mol = j» ,» 5 6.022x10%3

1M01 = (550 (ol ool Sy p32)
908 sl 1215 6.022x10%° = ( 350 (il p o 9oy 1)




one mole of solid (NaCl)

. ®
3 @ one mole of liquid (H,O

=® one mole of gas (N,).
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_ Jye Sl N= 40 g/mol 0.1 mol
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Jye S N= 5 = 98 gimol—0-0° Mol

NA

JoSJse slaws = 0.05 mol X = 0.05 Na

1 mol
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Aoled Clus 1y BT 55 )8 Ao a1
%o yais = (b il Slasi) (031 & 39) % 100
(F90 039)
(2)(12.0 amu)

0oC = X 100
(30.0 amu)

24.0 amu

— X 100
30.0 amu

= 80.0%
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N,(g) + 3 H,(9) — 2 NH;(g)

1 molecule 3 molecules 2 molecules
1 mole 3 mol 2 mol
1 volume 3 volume 2 volume
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: 'Given: 0.10 mol C¢H

129 Conversion Factor: 1 mol C¢H,,04 = 6 mol H,O
Find:  ? moles H,O

C;H;,0; + 60, — 6 CO,+6 H,0 .. 1mol CgH,,0, =6 mol H,0

6MOIHO 6 mol H,0

° 1mol CH-0,
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2 Na(s) + H,O(g) — 2 NaOH(aqg) + H,(9)

2 molecules Na = 1 molecule H,O = 2 molecules NaOH = 1 molecule H,
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1 mol CﬁHuDﬁ
180.0 g G HO5

Moles CgH,,0, = (5.380 gr;gI-I-ﬁcrgp( ) = 0.02989 mol C;H;,0;
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0=16.00-3 x2-32.00-9_
Mol Mol

32.00g9 O,
mol

2.5mol O, x =80.0g 0O,
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L Jse x> C13H 180, 9550 Yer MY 08 S
)15 (99 pgsl

C —» 13x12.01 =156.13

H— 18x1.01=18.18

O — 2x16.00 =32.00
206.31 g/mol

99294 995294

ozl 1g mol 4
o - 200 X X =9.694 x10™" mol
| @t Mol? = S T X 0 g ™ 20631

. 895190 OB9prem!

A o ROTTN PO 23 CRanse! Sdasienl
Njglecole 2200 g x g Lmol 6022107 molecules _ . asg.10% molecules
- 1000 mg 206.31 g 1 mol

: ‘ e
RUTTAL 395190 99594
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164.1 g CE{NQS)E
1 melCalNO3);

) = 71.1 gCamﬂg}g
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Dyl CgH1,0q

_ 'molecule’? 1 mel CH0; )(&DE % 10% molecules C&Huﬂé)

= (5.23 g CgH07)|
.C6H1206 128 (130.0 g CH50% 1 molCH7O0;
= 1.75 X 10% molecules C;H,0,

Atoms O = (1.75 X 10?2 meleeaiesf{gff_m(
= 1.05 x 10* atoms O

6 atoms O )
1 moleeule C:H70;
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Moles C.H,,O,— molecules C.H;,O, — atoms H

Hatoms = {D.BEUmQL-GEHﬁGEJ(
= 2.53 x 10 H atoms

6.02 % ]Dﬂmnleeu}es{z—ﬁﬁiﬁ) ( 12 H atoms __
1 mol CH0% 1 molecule CeHpEO;
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: ‘siven: 58.5 9 CO,
: iind: 7 g C4H .04

6 CO,(9) + 6 H,O(g) = CgH,04(5) + 6 Oy(9)

Conversion Factor: 180.2 g C;H,,0,=6 X44.01 g CO

-
o 9CO0; == mol CO, == mol C;H,,0; mmp g C;H,,04

P
L®
L ®
L @

1mQ O 1mo “H,,0, 18029CH120

’ 4401/0( 6mo}®/ 1mol C B0,
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g C.H,,0,?=585

39.9g C.H,,0,
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: 'leen 100.0 g PbO,

Conversion Factor: 2 X239.2 g PbO,=329 O,

2 PO, — 2 PbO + O,

g PbO, ==p mol PDO, w=sp Mol O, ==p O,

1 mol PbO, , 320090
O 23924 P06, " 2moIqu 1m0
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6 KI + SHNO, — 6 KNO, + 2NO + 31, + 4H,0

253.8g1
: .29glz=(38%l(l)( 1 moyKI )(3'“9142 )( - 2) =29gl,

166.0 5,1([ 6 maya 1 md/xg
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4 NH;(g) +50,(9) > 4NO(g) +6 H,0(g)

4 molecule 5 molecules 4 molecules 6 molecules
4 mole 5 mol 4 mol 6 mol
4 volume 5 volume 4 volume 6 volume
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N,(g) + 3H,(g) — 2 NH,(g)
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2.0165/(—[2 3m’.7iH2 n}‘al 273 K /\ 710. torr
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2 Al(s) +6HCI(g) » 2AICI, (g) +3H,(9)
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N,(g) + 3H,(g) — 2 NH,(g)

) = 246 L NH,

=
*
L9
L9
P
?
L9
*
®
P
®
Y




ol o Kl e KLy Yo 5/ HNOBJ...JLSL.O.\»
2Bl oo p3Y ) ST

‘”"“P’L) =222 mL HNO

X




U)9)'*'*" \N’/’ L : WS ‘9 )‘ R ‘ L\SMJ LfL.:yo] J9§J9,o .)‘A.x.?

N,(g) + 3H,(g) — 2 NH,(g)
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_ 1 molpg/ 2L 1)943 6.022 X 10> molgcules NH;
N @Js e NH =@0.0 :}A Nz)(22.4 L ya (mﬁ%)( mol A1,

1.61 X 10** molecules NH;
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2 KCIO,4(8) » 2 KCI(s) + 30,(9)
2
2 H,0— 2 KOH(S) + Hy(g) +2 K ()
?
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_ moles of solute
molarity =

liters of solution

Jsba b Mo 0,558 S 55 otigs o Jgo i
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= Aaled oy | ol
M =n/V

- : L =250 ml X (0.001 L/mL) =0.25 L
L & M, =22.99 + 35.45 = 58.44 g/mol

_ n=10.0/58.44 =0.171 mol
=® M=n/V = 0.171/0.250 = 0.684 M
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(337 g/mol) sl e V8- ML

B Bl
B1 5o.o/£>< 1 mol X 1000 mL X 1
Molarity = —=0.925 M
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TS

le « mol=M X L=025X% 0.2=0.05mol
12« g=mol X M,=005X 5844=292g
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nm_n&%

MXV=M XV,
B Be G, S
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Aoles asuie Y0 M Jgloxe

mol =MXL =0.200 X 0.500 = 0.100 mol

L = mol/M = 0.100/2.50 = 0.0400 = 40.0 mL
L

mol_,,.= mol;; M,V eon=Mgii Vgl

(2.5)(V,,,)=(0.2)(500); V., =(0.2)(500)/(2.5) = 40 mL
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M,V,=M,V,

M, X 125 mL = 2.00 M X (125+55) mL

M, = 0.61 M
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L Jseome cclale U ol G pu IS0 Jgloee YO ML
a5,¥g0 33,5 o yis +/¥YVe M dgw Jolxo YA/YA ML
Aol (poss 1) Al

HCl(aqg) + NaOH(aq) — NaCl(aq) + H,0(l)
Macia Vacia=Mpase Vbase

M.,.igX 25 mL =0.4370 M X 38.28 mL
M,.iq = 0.6691 M
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5 el o y9dlgw Yoo V/ED JoleV¥ -4 ML L 54 6 ML
Soled asuie |y dew 4, Vee 005 o
H,SO,(aq) + 2NaOH(aq) — Na,SO,(aq) + 2H,0()
I\/Iacidvacid _ I\/Ibasevbase
Nacid Npase

1.605 M X 24.09 mL _M,., X 50 mL
1 2

My = 1.559 M
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Stoichiometry
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3 Ethylene oxide + 5 Water 3 Ethylene glycol + 2 Water

A Limiting j t Excess t Unreacted
!I_Neactant reactant
U

dgdia (o 935 o8I

PN
1 9
9
g
d
T
*
B
»
3
.
L8
- @
= 2

XEn, b
&.'./JJ'/}.':')-".'




U""‘—ﬂ9 P‘Af Do oo oJ.S‘)’9.w u).w.S‘ {D)f \JAR ul.».f‘ f:)f Yoo
..Lwl.) (P 0lsS APEC )f
CgHig+ O, — CO, + H,O
2 CHyq + 250, — 16 CO, + 18 H,0

100 g X mole/114.22 g = 0.876 moles oS! J s
150 g X mole/32.00 g = 4.69 moles (xS Jse

0.876 X 25/2 =11.0 moles : ks 20 US) J 5w
4.69 X 2/25 =0.375 moles.: ks )50 O3Sl J 5o
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2 CgH,g + 25 0, — 16 CO, + 18 H,0
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2 Na(s) + Cl,(g) — 2NaCl(s)




§ 2 Na(s) +Cl,(g) —— 2NaCl(s)

® 6.7mol 3.2 mol
=

@
@ 6.7 mol Na [1 mol Clﬂ = 3.35 mol Cl,

2 mol Na / Need 3.35 mol of

PN Cl, and only have
® Given amount Need 3.2 mol Cl, thus
chlorine is limiting
reagent and Na IS
the excess reagent.
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2 CgH,q + 25 0, — 16 CO, + 18 H,O
100 g X mole/114.22 g = 0.876 moles oS! J s

150 g X mole/32.00 g = 4.69 moles :(jxS) Jse
0.876 /2 = 0.438 moles : )k 2 s S J sa

4.69 /25 =0.188 moles : i 2 e O 50S) J 90
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Aoled oy |y
2AgNO; + Cu 2 2Ag + Cu(NO3),

Cu 1 mel

5.00 g X ——— = 0.787 molcu 0.787/1=0.787

35g
Cu

200 g x —7°! _ 118 mol 0.118/2=0.059 i€ 3 gisa
1699 g

AJ(NO,) Cu(NO,) Cu(NO,)
AINO) 4ol 1mol’ 18759  CuiNoy,
200 g X =11.04 g

X X
1699 g 2 mol 1 mal

<
AGNG) 1 mol 1mol 635 g <l

Cu
200 g x x X = 3.74 5.00— 3.74 = 1.26
716995 " 2mol ~ 1mol < <

Ag(NO3) CU(NO3)2 Cu
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CeHy4(£) + 19 O,(g) — 12 CO,(g) + 14 H,0(g)
215 gx1mol  _ 2.49 mol
=2.49 mol =
86.16¢g 2 LA

215 d 1Imol _ 6.72mol
=6.72 mol : =
32.00g DR

@ Excess Reactant = CgH )y, Limiting Reactant = O;
12 mol CO, _ 4401 g

19molO;  1meolCO,

14molH,0 1802¢g
19mol O, 1 mol H,O

2mol CH,,  8618¢g

CO0OOOLOOGOS

® 21550, * (mol/32.00 g) -

=187 g CO,

215 g O, * (mol/32.00 g) -

=89.2 g H,0

215 g 0, * (mol/32 .00 g) - = 60.9 g CgHyy used

?
. @
*

= 215 g C;H,, available — 60.9 g C;H, used = 154 g C;H,;, remains
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2 CgHy4(£) + 19 O4(g) — 12 CO4(g) + 14 H,O(g)

215 g CsHyy * (mol/86.18 g) * (12 mol CO, / 2 mol CH,,) * 44.01 g/mol = 658 g CO,

2152 0, * (mol/32.00 g) * (12 mol CO; / 19 mol O1) * 44 .01 g/mol = 187 g CO,

Excess Reactant = CgH 4, Limiting Reactant = O,
12 mol CO, | 4401 g
19mol O, 1 mel CO,

14molH,0 1802¢g
19mol O, 1 mol H,0

2molCH,,  8618¢

215 g O, * (mol/32.00 g) - =187 g CO,

2152 0, * (mol/32.00 g) -

= 89.2 ¢ H,0

215 g 0, * (mol/32.00 g) - = 60.9 g C4Hy4 used

215 g C;Hyy available — 609 g C;Hyy used = 154 g CzH;, remains
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2 Al(s) + 3 Cl,(g9) — 2 AlCl,







PV ele Ligyw )5 Vol LASTy 5l sola Jgasme jlato a2
135,50 S5l ] S ylaned
3 Pb+2 H;PO, — Pb,y(PO,), s + 3 H,




g > Percent Yield 09 3L wo 4o

'

*8lg 233U
5 033

XYoo= 083b 00,0

= ®

‘_ 23,5 J.Jy 0SS dgisve /&.w.fb Ls,o\.w 8 puao
2 ® s e A_Sw,_{b ,1 ‘_;9_.@9:» JRw 6*919 033l
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4Al+30, > 2AL0,

1mol Al ) [2mol ALO, | (101.96 g ALLO, | _
169 AI[26_98 g AI] [ 4 mol Al 1 mol AI203 = 30.9 AI203

orviald —  actual _ 299 ALO, _ on i
YoYield theoreticalx 30. gAI203 x100 = 96.7 % Yield
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2Na + Cl, > 2 NaCl

1 mol NaCl |[ 1 motCl, 1(7091gCl, | _ 144Cl
58.44 g NaClI || 2 mol NaCl || 1 mol.Cl, g+l

.

22 g NaCl (100/97) {
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